Modulus Questions Section 7.3

Exercise 7.3

1. Solve each of the following inequalities for x € R.

1) lx+3=1
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(i) x—2| =4
Ix+#3[=1
(x+3)* =1*
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X' 5 bn ¥R =0
(x + ZXx+4)=o
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1. Solve each of the following inequalities for x € R.

) [x+3/=1

(iv) 3x = 2| =x
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i) [2x—1/=5
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7. Solve the following inequalities, x € R.
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(iii) 2lx — 1] =[x + 3]
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7. Solve the following inequalities, x € R.

() 2x—11=7
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(1) flx) < h(x) -4 =2X 2 2
(ii) A(x) < f(x)

(i) glx) < flx)

(iv) glx) < h(x) < f(x)

(v) glx) < f(x) < h(x)

(vi) f(x) = h(x) > g(x)

(vii) f(x) = g(x) = h(x)

| | |
—4-3-2-19 1 2 3 4 «x
(i) flx) <h(x) —Y=2X « 2
(1) hx) <flx) —4>x >=2
(i) glx) < flx)
(iv) glx) < h(x) < f(x)
(v) gx) < flx) < h(x)
(vi) f(x) = h(x) > g(x)
(vil) f(x) = g(x) = h(x)
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AN

h(x)

—4-3-2-19 1 2 3 4«

(i) flx) <hlx) —Y=<X « 2
(i) h(x) <flx) —4>x > 2
(i) g(x) < flx) % < v =%a

(iv) glx) < h(x) < f(x)

(v) &(x) < flx) = h(x)
(vi) f(x) = h(x) = g(x)
(vil) f(x) = g(x) = h(x)

NN

—4-3-2-19 1 2 3 4 x

(i) flx)<h(x) —YHY2X « 2
(i) Alx) <flx) —¢>x >=2
(iii) glx) < flx) % < x < %a

(V) g) <h(x)<f(x) 2 ¢ x < 3
(V) g(x) = f(x) < h(x)

(vi) f(x) = h(x) = g(x)

(vii) f(x) > g(x) = h(x)
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AN

h(x)

| | | | | "
—4 -3 —2 —10 4 X
(i) flx) <h(x) —Y<2X « 2
(ii) h(x) =flx) —4>x > =2
(i) g(x) < flx) % < v < %5

(iv) glx) =h(x)<flx) 2 ¢ » <« 3
() g <fE@ <h®) lyex « 2
(vi) f(x) = h(x) = g(x)

(vii) f(x) = g(x) = h(x)

N

—4-3-2-19 1 2 3 4 x

(i) flx)<h(x) —YHY2X « 2
(i) Alx) <flx) —¢>x >=2
(iii) glx) < flx) % < x < %a

(iv) glx) <h(x)<f(x) 2 ¢ x <« =3
(v) glx) < f(x) < h(x) e « 2
) () =hx)=glx) 2 x <22
(vii) f(x) = g(x) = h(x)
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AN

h(x)

—4-3-2-19 1 2 3 4«

(i) flx) <hlx) —Y=<X « 2
(i) h(x) <flx) —4>x > 2
(i) g(x) < flx) % < v =%a

(iv) glx) =h(x)<flx) 2 ¢ v = =3
V) 800 <) <h() 1 ex < 2
(vi) flx) =h(x)=glx) 2 2x <3

(vii) f(x) =glx)=h(x) > &aX <R
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